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Time: 2:30 Hours

MCM4ia0OE0113 Seat No:
M.Com Semester - 4 (CBCS) Examination
March/April- 2019
INTERNATIONAL ACCOUNTING
(ELECTIVE)

Marks: 70

Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

UH-1

UH-1

Atz Uzl ol (Aewoll 8. % el o [Qetol B. [Aedol u, s crd olelld B.
R A oslRetl (oML AA B, wal (Aol ol ol Ul A B. Fotl UR cy yBal 53l daur Hid z
olotld &, (Aetal ol ol aslell Acl w@Aua & ¥ duecll sl (Bud GAl 8. wu uddyl g2 s2cl
oA [Qetotlell astall UL HIZ dAEs dHel GURAA gl wal [Qewal u ol ast ol Aefl Hilddl
wAl yd 29 52 B,
[Clewdt-2 wglRell dlleslal 40,000 AsHL AA B. ua [Aewdl-ol & 10,000 WAsHL w B.
AsHell A(¥.20 B.
GURlsct HoHL ¥2812 49l Adll sle asudl o2l Geuteat AsHEls wAA Wl 312 B.
U @R Wl 3.2,00,000 B. [Aetot-Botl Nal%? 3.180 ¥uecll Brd 6B B, %l [Qewor-w
Ulcllo] Geuleet [Qetol ol A AUWL ol 52 cll 3.30,000 RAR WA wa 1,75,0000( Mletscl g 53l
Ay B, o{lAstl A @Ascuriell sl 2cllsiRal wlesl.
(1) 9 [Qeuol ol Aaos? 3.180{l BHA Ulcllotl AsHl FRUEA 53 ¥ ¥H?
(2) [Dewat w 12 sl Ayt eltel adlsiral wleal?
(¢t Metsdl 3.8,00,000 B.)

weell
ABC Wllell dad 3 [@ewol A, B 3ol € il Gausrt 52 8. Aoll arl 2003-040{l QoL (1A Yorol B.
@otct (Qewat-a | [Qewot-B | Qewot-c | s

SEIIE 3,200 2,400 2,400 | 8,000

Geuleet W3l RAR 200 40| 240

A@A 2,400 1,400 1,360 | 5,160

800 800 1,000 | 2,600

clldadl wal: 268 232 344 844

ARl WAl 404 420 464 | 1,288

128 148 192 468

(1) A [Qewstell QRHl 3.400¢] C ([Qetolal Geuleet WA 3et ARlell WHLALL a2t 8.

(2) cAldadl wadHl 3.260 UHLA WAsll HAL Ul B, B 35 [Aelolell slUL otslell
YHIRHL slaclellsll 8.

(3) QAL HAHL 3.2000il UlHLIRL Aol AHIA UL B, ¥ €35 (Aol Aol ARt
2.5% AW slacclsll 8.
GuRlset (Qotcl uRell vl sloteil 9JRIR w(@ord glRl [Qetolsll sl wordisH

LUl
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yst-2  dl ga suell wiGe AL wa gRAR AlTuell @lcrua 52 8. Aoll Yuat vl(3U Hue wWid wal  (20)
L @lstoll vt 8. (Els1oll 2lule] UARL U.S.$ B. cll.31-3-20040] 513 e oflA Yoot wUet

8.
(Aot GUlR R8H | %HL M
SIARHL sleRHL

Hual (o] wid - 32,800
WilEl wa Qe 9,000 22,000
EalELR Wol ARLELR 1,000 800
21301l 228 4,000 -
Ass s 800 -
w@slulletl sleyed 18,400 -
el staHl Ratsdl 18,400 -
LWL AL WA 4,000 -
55,600 55,600

uo2l sl Aetsdl dar Aualu (8112y2r) dl.1-4-200301 A% wilEet 8. crloll win? v
@lss] Yealiset 3200 SR s3ct 8. Hual wlgluoll AU vl wiclell GuR ousl 3.16,00,000

geldd 8.

Al 1 sletRell €2
31-3-03 47 Rs.
31-3-04 49 Rs.
TEREN 48 Rs.

el (Fauell kel As-11 Yool Uil 513 v Wl AUR Wid, olof Wid dal 31-3-
20045t A%e] UL dalr 52
welell
yst-2 - UlReleRell YL Aneldell As vt 2l3al-ostulet wid wdell 8. def AR ¥ Aot B. dl.30-6- (20)
200401l A%< Ao sl.uY oA Yol B.

[@oatet GuR clfly | oml ol
Huay ul(3e] vid - | 20,00,00,000
wilel 28,50,00,000 -
A3 s 3,90,00,000 -
galelRl 1,02,50,000 -
Ass, ds 15,00,000 -

1-7-034ll A% WIlEet st.BAesdA 4,00,00,000 -

ARl -| 20,00,00,000
ARLELRL - | 1,00,00,000
AlFadl wa Aw:d 3,42,50,000 -

41,00,000,000 | 41,00,000,000

Al.30-6-20045ll A% AWl WA W MR \Se] Heallsel 20,00,000 % $AAA B, Hul
l(etl UUS 2wl victe{l Gut? wigl 3.8,00,00,000 e2lddl &.
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U#-3

ug-3

UH-4

[@Eell gslaumaletll €2 o{lA yow 8.

dl.1-7-20034tl A% 100 Aol = 39 3.
cll.30-06-200441 A% 100 Aol = 41 3.
UL ER 100 Aot = 40 3.

Hual ullgla 13yl wal el HEyell wias 2 wRRe ARl e wusid 8. 23
2ls ual R 2l HEZ B A dlfluetl @QollHat €2 wustad B.

Hual (el AU 2ol s (Bato daur 3.
Czell 5 wel taa @ As Hallot $ 1,00,0000( UscR Buad wily A w2 Qeell sudll A
aluslal YAl clot 3 53wl scdl. clotoll Yed 8H 5 UHlet cllls sicldl URd
ysccllell 2 A Alotoll @lcral scaHl WA, Aot uR cdllds 15% AW cale dBdd 25H
ysciclloll scll. Hallot yaur cdott vid Yellul olscllal Gualowi cllaa. @oflat el oA yosot
WUAHL wAC B,

WAlElL dHA (Ty) 1$ = Rs. 31.
yuH dulell ud (T,) 1$ = Rs. 32.
oflost adetl uA (T,) 1$ = Rs. 31.50.
Aot arlotl i (T,) 1% = Rs. 33.
Al crlell A (T,) 1$ = Rs. 33.
UiAHL ardetl A (T,) 1$ = Rs. 32.50.

ul HUBA well Baell wlre-11 uagaz sl Aesdell 1, T, T, T, vl T, Yool €2 ol
olt$l Waaefl 251 .

wcll
252 (A A 12 c Slerell As RAR Mesd dl.30-6-200401 A% WIlEL A WSl 10 c slaR
@2all ucql yosuoll dlot ustel ocll. »eud olsloll 251 u2stdl vl gt Holl odl. @zell
clot Uz 10% s caes AelHl A B. 1 SletR gslauHlell £2 oA ool &l

Pasd il awad = 36 3.
31 (32012 2004 = 36.50 3.
31 3012 2005 = 37 3.

sUell Aot [Batedl 31-1201L A ol 52 8. vedl wcdl wdlell A 15% AW vl awterHl wid
®. dl.31-12-14 el 31-12-1501l A% SUllal il calley U WA AZlHB ofsA 2 EAlW e 15
A sleR Hseall &l
Gurell HRAL uzell As=11 Yol oLl 52l

(1) o ol HE aatzlell ol

(2) o ad HEE Rasdell cisl Waatefl 251
gsotlel cull. (sleurl 2.l

(1) ewrdla Baell wlze

(2) el Bauell wlRuell «3dlaid

(3) ulictdla Baoll wl2el

(4) wicidla Baoll «1§

(5) Al wal Wi 22 Baell dalel @Asid HE2 Ul Yalell.
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Que-1

Que-1

ENGLISH VERSION
Reliance Paints have two department that is department ‘A’ and department ‘B’. Department ‘A’

produces product X. and sell it to the market. And also provide some to its department ‘B’.
Department do some process on it and prepare goods Z’. View of department B’s manager is that
transfer of the raw material is very high. To remove this conflict both Department’s manager
present with the management. The following information had been given.
Department ‘A’ sold out 40,000 units to external customer. And give 10000 units to
department ‘B’. Selling price per unit is 20.
There 1s no any possibility for change in demand. Variable expense per unit production is
Rs.12. Whereas fixed expenses is Rs.2,00,000.
The Manager of Department ‘B’ wants to transfer the goods (@ 18 Rs. If department ‘A’
Does not sell the goods to department ‘B’ than Fixed expense amount Rs.30,000 and Assets of
Rs.175000 can be reduced.
Which alternative should be selected?
1. Can units be transfer @ Rs.18 per unit to department ‘B*?
2. Find out Minimum Rate which is suitable for department ‘A’?
( Total Assets amount of Rs. 8,00,000)
OR

(20)

Company ABC produces it production within the three departments. He provides the following (20)

information for the year 2003-04.

Particular Dept. A | Dept. B Dept. C | Total

Sales 3,200 2,400 2,400 | 8,000
Production Exp. Fixed - 200 40 240
Variable 2,400 1,400 1,360 | 5,160

800 800 1000 | 2600

Administration Exp. 268 232 344 844
Sales Exp. 404 420 464 | 1288
128 148 192 468

(1) The Sales of Rs.400 in department ‘A’ is included in the sales done by the production
expenses of Department ‘C’.
(2) General expense of Rs.260 is included in administrative expense which is distributed in
the gross profit ratio of all departments.
(3) General expense of Rs.200 is included in sales expense which is distributed to each
department on 2.5% of their sales.
From the above information give preference to each activity according to net profit margin

approach.
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Que-2

Que-2

Que-3

The Dev Company is doing business of outsourcing and courier service. Its main office is in
Mumbai and Branch is Located in Chicago. The currency of Chicago is U.S. $ (Dollar). The Trail
Balance sheet of this company as on 31-3-2004 is mention as under.

Particular Dr. Amt.in$ | Cr. Amt. in §

Account of Head Office - 32,800
Purchase and Sales 9,000 22,000
Debtors and Creditors 1,000 800
Opening Stock 4,000 -
Cash and Bank 800 -
Computer of Officers 18,400 -
Other Fixed Assets 18,400 -
Branch Operating Expenses 4,000 -
55,600 55,600

Other Fixed Assets and Computer of officers is purchased on dated 01-04-2003. At the end of the
year closing stock is valued at 3200 Dollar. In the books of Head office, balance of branch
account is Rs.1600000.

Date Rate of 1 Dollar
31-3-03 47 Rs.
31-3-04 49 Rs.
Average 48 Rs.

According to the Indian Accounting Standard asll, Prepare Coverable balance sheet, Branch
Trading Account, Branch Profit & Loss Account and Balance Sheet as on 31-03-2004.

OR
One branch of P.M. Stores of Porbandar is located in Japan-Tokyo. Its currency is Yen (). Trail
balance sheet as on Dated 30-06-2004 is mentioned as under.

Particular Dr. Amt. in= | Cr. Amt. in ¥

Account of Head Office - 20,00,00,000
Purchase 28.50,00,000 -
Opening Stock 3,90,00,000 -
Debtors 1,02,50,000 -
Cash and Bank 15,00,000 -
Fixed Assets on01-07-2003 4,00,00,000 -
Sales - 20,00,00,000
Creditors - 1,00,00,000
Administrative & Sales Expenses 3,42,50,000 -
41,00,000,000 41,00,000,000

On dated 30-06-2004, the value of closing stock with the branch is 20,00,000 2. Debit balance of
Branch account 1s Rs.8,00,00,000 found in the books of head office. Foreign currency rate is
mentioned as under.
On Dated 01-07-2003 100 % = 39 Rs.
On Dated 30-06-2004 100 % = 41 Rs.

Average Rate 100 ¥ = 40 Rs.

Head office consider average exchange rate for revenue expenses and revenue income. For
opening and closing stock related exchange rate is to be considered.

Prepare balance sheet in the books of head office.
Devesh Company Ltd. purchased a machine of $ 100,000 from Foreign Company. For this
purpose foreign company has get him loan as a financial facility. Principal amount of loan is to
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Que-3

Que-4

paid within 5 equal installment. 15% interest is to be calculated on loan amount. Machine is
mstallment in the first year and started its usage. Exchange rate is to be given as under.

At the time of purchase (T,) 1$=Rs. 31
At the End of First year (T1) 1 $=Rs. 32.
At the End of Second year (T>) 1 $=Rs. 31.50.
At the End of Third year (T3) 1$=Rs.33.
At the End of Fourth year (Ts) 1 §=Rs. 33.
At the End of Fifth year (Ts) 1 $=Rs. 32.50.

From the above information, as per accounting standard-11 find out balance brought down
amount for the fixed assets Ty, T2, Ts, T4, Ts.
OR
Sankar Itd. has purchased one fixed assets for 12 lac $ as on 30-06-2004. Out of this amount
foreign currency loan is to be given of 10 lac §. Whereas remaining amount is to be given as
government subsidy. For foreign loan 10% interest annually is calculated. 1 dollar exchange rate
is mention as under.
At the time of purchase of assets = 36 Rs.
As on 31 December 2004 =36.50 Rs.
As on 31 December 2005 =37Rs.
Company closes his account on 31-12 every year. Depreciation @ 15% per annum is to be
calculated with diminishes balance method. On 31-12-2014 and 31-12-2015 company has paid 2
lakh dollar and 15 lakh dollar respectively with interest.
From the above information as per AS-11 calculated the following.
(1) Calculation of Depreciation for both the years.
(2) Balance brought down amount for both the years.
Short Note. (Any Three)
(1) Indian accounting standard.
(2) The need of Indian accounting standard.
(3) International accounting standard.
(4) International accounting board.
(5) Attempt for developing accounting standard at national and international level.
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